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Part A: Grammar & Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best

completes the sentence. Then mark your answer sheet.

76-

77-

78-

80-

81-

82-

83-

84-

85-

86-

87-

In free writing, you should not werry about spelling or punctuating correctly, about

erasing mistakes, about organizing material, or -—--—-- exact words.

1} finding 2y how to find 3) about finding 4} the finding of
Gerald —-—-—-——- forgot to lock the door the night our restaurant was rebbed.

Iand I 2) or myself

3) and I themselves 4) himself and myself

Rescue helicopters had searched the whole area for the missing hikers for five hours
before they finally ---—--—-—-- them in a remote area.

1) were found 2) would find 3) were finding 4) found

Mr. Thomason, the company president, is not a generous man. If I ------—- the company
president, I would for sure donate some money to charity.,

1) was 2) were 3) be 4) would be

We arc an old nation proud of our national -——-—-- .

1) generation 2} combination 3) continent 4) heritage

The children paid --——--—- attention when the teacher began explaining what would be on
the next big exam,

1) particular 2) popular 3) willing 4) amused

Having to pay out -——-—- for car repairs made a big hole in my savings,

1) safely 2) absolutely 3) carelessly 4) unexpectedly

I think we should all respect nature and governments should do more to --—--—o-o-
cnvironmental damage.

1) require 2) prevent 3) protect 4) convert

Henry likes to take long showers and -——---——-- all the hot water before others get a chance
to bathc,

1) fall down 2) pass away 3y usc up 4} turn off

The man’s ==——— — speech made little sense to the people in the audience, so many left
before he was half through.

1) ancient 2) countlcss 3) monolmgual 4) incomprchensible
Kinetic learners are students who learn better when they are allowed to be ———- -

1) cheerful 2) emolional 3) aclive 4) sociablc

No, no. You seem to not have gotten the -—---—--- 1 have been trying to make; all I mean is

that you should take better care of yourself.
1) point 2) matter 3) issue 4) advice
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which cheice (1), (2}, (3), or (4) best fits each space. Then mark your answer sheet.

88-

89-
90-
91-
92-

The human eye is nalure’s most [anlasiic organ, and the high degree of development of
human society probably depends upon (88} -----mm-m- . When nature first developed this
intricate and adaptable organism, human eves (89) ---------- mainly for outdoor work and
living. With the stress of indoor life and unnatural lighting, much pressure is placed on
eves today. Sometimes more than nature’s assistance is needed to keep eves in shape for

the many uses they (9¢) —--——--- in modern life. It is also true that we have (91} -==e-mmmmm
man’s normal lifespan to almost twice what it was in ancient societies. Visual problems
also increase with age, and eves usually need some corrective (92} —--—-—- as one grows
older.

1) this organ 1s developing 2) this organ develops

3) developing of this organ 4) the development of this organ

1) uscd 2} woe uscd 3 woere uscd 4} have been used

1) serve 2y improve 3) ideniify 4) receive

1) expanded 2) replaced 3) saved 4) ranged

1) skill 2) care 3) space 4y addiction

Part C: Reading Comprehension
Directions: In this part of the test you will read two passages. Each passage is followed by four

questions. Answer the guestiony by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

93-

PASSAGE I:

A kind of bird known as pigeons have been taught to recognize human facial
expressions, weakening long-held beliefs that only humans have the sophisticated
nervous systems to perform such an act. In some recent experiments, eight trained
pigeons were shown pholographs of people displaying emotions ol happiness, anger,
surprise, and hatred. The birds learned to recognize the difference between these
expressions. Not only that, but they were also able to correctly identify the same
expressions on photographs of unfamiliar faces, Their achievement docs not suggest, of
course, that the pigeons had any idea what the human expressions meant.

Somc psychologists have theorized that because of the importance of facial
expression to human communication, humans developed special nervous systems
capable of recognizing subtle expressions. The pigeons cast doubt on that idea, however.
In fact, the ability to recognize facial cxpressions of cmotion is not nccessarily inborn
gven in human babies, but may have to be learned in much the same way pigeons learn.
In experiments conducted scveral years ago, it was found that pigeons organize images
of things into the same logical categories that humans do.

What iy the subject of the passage?

1) Differences in communication between humans and pigeons
2) Importance of body movement in human communication

3) Recognition of facial expressions

4) Emotions that our face can show
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94.-

95-

96-

497

98-

99-

100-

The passage suggests that the belief that animals may also be able to recognize facial

expressions ——-—-- 3

1) proves that they understand what each facial expression means

2) holds true in relation to trained, but not untrained, birds

3) was supposed to be wrong

4) is a long-held one

Which of the following describes the author’s attitude towards the idea that the ability to

recognize facial expressions of emotion is inborn (paragraph 2)?

1) Uncertain 2y Frightened 3) Shocked 4) Amused

The phrase “that idea” in paragraph 2 refers to the idea ——-———.

1) that pigeons c¢an learn new things

2) expressed by the psychologists mentioned in paragraph 2

3) that rccognizing facial cxpressions is important to human communication

4) according to which to recognize facial expressions of cmotion is not neccssarily
inborn

PASSAGE 2:

For most modern airports, the major design problem is scale—how to allow enough
space on the ground for maneuvering wide-body jets while permitting convenient and
rapid movement of passengers departing, arriving, or transferring from one flight to
another. Most designs for airport terminals take one of four approaches.

In the linear plan, the building may be straight or curved. The passengers board
atrcraft parked next to the terminal. This plan works well for small airports that need to
provide boarding areas for only a few aircraft at a time.

In the pier plan, narrow corridors or piers extend from a central building. This plan
allows many aircraft to park next to the building. However, it creates long walking
distances for passengers.

In the satellite plan, passengers board aircraft from small terminals that are separated
from the main tcrminals. Passengers rcach the satellitcs by way of shuttle trains or
underground passageways that have moving sidewalks.,

The passage would most probably continue with a discussion of =———ae=- !

1) the best airport design

2) another approach Lo airport design

3) the reasons why airport design is important

4) the advantages and disadvantages of each airpert design

According to the passage, the linear plan is more appropriate for airports ————-- i
1) with small planes

2) that offer domestic flights

3) the passengers of which prefer to board planes as quickly as they can

4) that can provide service to a limited number of planes at the same time

Which of the following is defined in the passage?

1) scale {paragraph 1) 2) terminals (paragraph 4)

3) board (paragraph 2) 4) passageways (paragraph 4)

In which of the designs described in the passage are buses used and the passengers must
climb a flight of stairs to board the aircraft?

1) Linear 2) Pier 3) Satellite 4) None
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Teil A: Grammatik

Unser --—-——- Problem war, dass unsere Mannschaft sehr mide war und nicht effektiv
spielen konnte.
1) grofite 2) grofiten 3) grobter 4} grolites

In welchem Kasus steht die Priposition im Satz ,.Ich habe dank eines Zufalls meine Frau
kennen gelernt“?

1) Dativ 2) Genitiv 3) Nominativ 4) Akkusativ

Meine Kollegen wundern sich ----—-— , dass ich im Alter von 40 Jahren immer noch
keinen Fiihrerschein besitze.

1) dazu 2y davon 3) darauf 4) dartiber

In welchem Tempus steh¢ der Satz ,,Idie Tiir liel sich nicht Schliefien*?

1) Futur I 2) Prisens 3) Priteritum 4) Plusquamperfekt
Was macht ihr mit --—————- Papageien, wenn ihr in Urlanb geht.

1) euerem 2) euerer 3) euere 4) euer

Im groflen Raum gab es nur einen Tisch, an dem ein stimmiger Herr ---—---- (sitzen).
1) gesessen hatte 2) gesetzt hatte 3) gesitzt war 4) pesetzt war

Er fragte scinen Mitstudenten, —-—-- er weill, in welchem Raum das Seminar stattfindet,
1) wic 2) ob 3) talls 4) damit

Welche Bedeutung hat das Modalverb im Satz ,,Jonas will scin Anto waschen*?

1) Absicht 2) Fahigkeit 3) Erlaubnis 4) Notwendigkeit
Wir zwingen niemanden mitzukommen. Auch Hugo ---——---—- nicht mitkommen, wenn er
das nicht will,

1) will 2) kann 3) muss 4) darf

------ — kommst du nicht ins Kino mit? — Weil ich zur selben Zeit ecinen Bekannten treffen
Muss.

1) Was 2) Wann 3y Warum 4) Wic lange

Teil B: Vokabeln

Petra macht immer wieder Versprechungen, die sie nicht --——--—- kann.

1) enthalten 2) einhalten 3) abhalten 4) erhalten

Was kann gesteigert werden?

1) Ein Studium 2) Eine Leistung

3) Die Spannung 4) Der Wert von etwas

Bei ihm ist wohl eine Schraube -~—---—-- . Er glaubt, ich wiire ihm 1000 Euro schuldig.

1) lang 2} locker 3) kaputt 4} stumpf

Durch das Tempolimit auf Autobahnen will man die Zahl der --—--——- verringern.

1) Besucher 2} Klagen 3) Antrage 4) Unfalle

Sie hatte eine ——— Haltung gegeniiber ihren Angestellten. Deshalb mochten sie sie nicht.

1) gerechte 2) objektive 3) arrogante 4) freundliche
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Teil C: Liickentest
Erginzen Sie den Text mit den richtigcen Auswahlméglichkeiten!

Ein alter Léwe, der sein ganzes Leben lang {91} ---——----- die anderen Tiere grausam
gewesen war, lag jetzt (92) ---------- vor seiner Héhle und erwartete den Tod. Die Tiere,
die sonst 1mmer (93} ------—-- .. wenn sl¢ i1hn sahen, bedauerten ihn  nicht
(94) —--mmmmmem sollten sie iiber den Tod ¢ines Friedensstorers (93) ---------- sein, vor dem
gic ni¢ sicher gewesen waren!

1) an 2y aul 3) wegen 4) pegen

1) sparsam 2} kraftlos 3) gesund 4) sicher

1) sangen 2) lachelten 3) erschraken 4) stehen blieben
1) Wer 2) Wie 3) Was 4) Wann

1) traurig 2} wiitend 3) gliicklich 4) bewusst

Teil D: Leseverstehen

Antonio Lucio Vivaldi kam 1678 in Venedig zur Welt. Er lemte schon als kleines Kind
Geige zu spielen — kein Wunder, denn auch sein Vater war Violinist. Antonio spielte so
gut, dass ¢r scinen Vater angeblich sogar manchmal im Orchester vertreten durfte! Da
seine Eltern sehr gliubig waren, wihlte er aber zundéichst einen anderen Beruf: Priester.
Weil er feuerrotes Haar hatte, gaben ihm die Menschen den Spitznamen ,,roter Priester™.

Vivaldi hatte aber schnell genug vom Leben in der Kirche, Viel mehr Spall machte thm
dic Arbeit aly Musiklchrer in ¢cinem Waisenhaus fiir Madehen, Er komponicrte vicle
Konzerte extra tir scine Schillerinnen, dic sic in cinem Orchester zum Besten gaben,

Das war zu Vivaldis Zeiten etwas AuBergewdéhnliches. Damals waren Franen auf
offentlichen Biithnen noch verpdnt. Sogar hohe Stimmen in Opern wurden ven Mannern
gesungen.

Wonach war der Spitzname ,roter Priester” benannt? Nach Vivaldis -—---—-- ;

1) roter Nase 2) roter Violine 3) rotem Kleid 4) roten Haaren
Welchen der folgenden Berufe iibte Vivaldi u. a. aus?

1) Anwalt 2y Geistlicher 3) Schauspieler 4} Bibliothekar
Welches Instrument konnte Vivaldi bereits als Kind Spielen?

1) Gitarre 2y Klavier 3) Geige 4) Flote

In welcher Stadt wurde Antonioe Vivaldi geboren? In -~——-——- ’

1) Rom 2) Florenz 3) Mailand 4) Venedig

Welche Eigenschaft wird im Text den Eltern von Antonio Vivaldi zugeschrichen?
1) Arroganz 2) Religiositit 3) Aggressivitit 4) Habgierigkeit
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Partic A: Grammaire

Complétez les phrases suivantes en cochant la répense correcte:

Quelles sont les dates —--—--- vacances cette année?

1)de 2) les 3) des 4)dela

MC Donalds et IBM sont des entreprises -------——-- >

1) americain 2) americains 3) americaine 4) ameéricaines
Je ne comprends rien & —--—-—-- probléme,

1)ce 2) cet 3) cette 4) ces

Il a emprunté le vélo de son voisin pour rejoindre ses copains qui ' -——-——- au coin de la
ruc.

1) attendent 2) attendront 3) attendraient 4) attendaient
C’est un projet -———-- je m'occupe personnellement,

1)ou 2y qui 3 que 4) dont

Je ne crois pas quil s——e-=-- nous aider a déménager.,

1) veut 2} veuille 3) voudra 4) voudrait
Lorsqu'Emilie =m—=s==sn son comportement les autres éléves comprendront.

1) explique 2) expliquera

3) aura cxpliqué 4) aurail expliqué

Si vous écrivez une belle histoire, tout le monde I' -—-—--- -

1) adorcrait 2) adorait 3) adorera 4) adore
L'émission -—----—- par Marie dés ce soir.

1) scra présenté 2) scra préseniée

3) présentera 4) presente

Ils ont fait le travail -—-—-——- un an.

I}en 2) pour 3) depuis 4) pendant

Partie B: Vocabulaire:

Complétez les phrases suivantes en cochant la réponse correcte:

Un biatiment ofi habitent plusienrs personnes et regoivent une aide financiére est un

1) tover 2) residence 3) immeuble 4) appartement
-------- cst le meilleur moyen pour protéger les enfants contre les maladies dangerenses,
1) Le so1n 2) La guérison

3) Le traitement 4) La vaceination

Comme il est allergique an printemps, il a toujours des yenx ———e—-- i

1) bridés 2} Touges 3) pochés 4) ¢xorbités
Généralement, I'université comprend plusieurs ==smms=e-- i

1) lycées 2} colléges 3) faculiés 4) pensionnats
Véronique sait bien vendre, bien gérer une société: elle a mmmmmmm-- ,

1) un bel esprit 2y l'esprit d'¢quipe

3) l'esprit critique 4) le sens des affaires
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Partie C: Texte 2 Compléter:

La maison, (91) ----m-m—-- comme une grande cathédrale n'était pas la sienne. On
(92) - lui avait prétée. C'était une folie de la Belle Epoque, (93) -----—----
monument historiguc.

L'architecte (94) ---------- l'avait dessinée avait laissé libre cour a son (95) ---—----—- et

abusé des ornements qui plaisaient sous Napoléon III.

1) petite 2) vaste 3) exigué 4} minuscule
1)y 2)en 3la 4) leur

1) classeé 2) classee 3) classe 4) classer

1) qui 2) que 3) dont 4) ou

1) imagination 2) création 3) pensée 4) idée

Partie D: Compréhension de Texte:
Liscz le texte suivant ct répondcez aux questions:

Les parties du corps

Le corps humain comprend unc téte, un trone ¢t quatre membres.

La téte se compose du visage et du crine qui est recouvert de cheveux. Le visage
comprend unc orcille de chaque e6té, deux yeux surmontés par les soureils ¢t un nez an
centre. Puis, viennent la bouche et le menton. Les dents se trouvent dans la bouche.

Le tronc est reli€ a la téte par le cou. 11 se compose du thorax et de l'abdomen encore
appelé ventre. La poitrine contient les deux poumons et le cacur, Le ventre se trouve 3 la
partie inférieure du tronc. Il renferme le foie, I’estomac, les reins et les intestins. Ce sont
des organcs internes commge le cerveau qui ost logé dans la téte. Le dos forme la partic
arriére du tronc.

Les membres sont au nombre de quatre: deux en haut et deux en bas. Un membre
supéricur comprend un bras, un avant-bras ¢t une main munic de cing doigts. Le bras cst
relié au tronc par |'épaule et a 1’avant-bras par le coude. Un membre inférieur comprend
une cuisse, une jambe et un pied qui a cing orteils. Les articulations sent en haut la
hanche, au milieu le genou en bas la cheville.

Quclles sont les principales parties du corps humain?

1) le ventre, le tronc et le dos 2) le crine, le visage et le pied

3) la téte, les membres et la queue 4) la téte, le tronc et quatre membres
Quelle est Particulation qui relie le bras a I’avant-bras?

1) la cuisse 2) Ic coude 3) I'¢paulc 4) la hanche
Quels sont les organes internes de la poitrine?

1) Ic dos ¢t le cceur 2) le ventre ¢t le cerveau

3) les deux poumons et le coeur 4) les deux poumons et le foie

011 se trouve 'abdomen?

1) dans les membres inféreurs 2) dans la hanche

3) dans le tronc 4) dans la téte

Quelle est 1a partie du corps guni relie la téte au trone?

1) c’est le cou 2) c’est le coude

3) ¢’est "épaule 4) ¢’est la cheville
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A. BoiiepuTe npapHILILIH BAPHATIT OTBETA!

Moii 6par cTyJeHT, OH ----—--- B YHHBEPCHTETE.

1) yauTes 2) n3yqaet 3) m3yqaeTcs 4} yaut

Ouner ¢epbe3HO YBJICKACTCH -—---——- ‘

1) MaTemMaTHka 2} MaTeMaTHKY 3) MaTeMaTHKS 4) MaTeMaTHKOH
TocTH ===m=emnmm OT HAC 0YEHb MO3AHO,

1) nprminnu 2} nepenwiu 3) yuun 4) npoiny
JeToM ¥ 3UMOI TYPHCTRI €I¥T ~—---—--- IMeTepoypr.

1)k 2} r 3} mu3 4) ua

HO1LIe 3pHTEeIN MOTIIH TOIBKO MOCMOTPETL —--——---- COpeBNoBAITHA.

1) ciopTHRHEIE 2} CIOPTHBHBIX 3) CIIOPTHBHEBIM 4} copTHEHAS
Tl yike YHTAI MOBeCTh, ---—----- HHTepecyercda Buktop?

1) o xoTopoOit 2} ¢ KoTopoii 3) xoTopoii 4) xotopasn

A 3nan0, ——--—--- 3B0HH.T BukTop.

1) o koM 2} xoro 3) xT0 4) xomy
BoicraBka Oyact orRpbITa 25 ~—-mm—mm s

1) aenb 2} nHe# 3) nux 4} nHax

A xoten Ob1 00CYAMTH ¢ BAMH ————————- 2

1) DKCKYPCHOHHYED TIPOTPaMMY 2} IKCKYPCHOHHOW MPOTPAMMOH

3) 00 BKCKYPCHOHHOM NPOrpaMmMe 4} ¢ 3KCKYPCHOHHOH OporpaMMon
Beuepom H03BOHMIA APY3bH, ========== Mbl JOJKHBI BEITPETATCH B LAPKE,
1) xoTopbie 2) 0 KOTOPbIX 3} ¢ KOTOPBIMH 4} KOTOpPBIM

Y 1IpomM MHE HAUO NOTOBOPHTH -=------—- ’

1) moei noapyre 2) MO noapyry 3} MOX IOJIPYyra 4} ¢ MOSH noapyroi
Ceroaus no TeJEBH3IOPY HEET —————-- —

1) VHTCPCCHYIO TICpeaaqy 2} IHTCPCCHAA TICpeaaqa

3) nHTepeCcHOH nmepenayecii 4} nHTEpEeCHOH mepejaun

H 3HAK, =—m————— HCATENE Bhi IOBOPIHTE,

1) 0 kakoM 2} KAKOMY 3} ¢ xaKum 4) kaKoc

MuI npoexam MEMO -—------- '

1) ocTaHOBKY 2} 0CTaHOBKH 3} OCTaHOBKA 4} 0CTaHOBKE
Bompoe, ~—--—--- ceiiyac, kacaeTcd NOANNCAHHA JOTOBOPA.

1) obcyaaemoro  2) obeyxaaromero 3) obeyxmaeMmpiit  4) obeyxkzaromunx
--------- B JIECY HOA03PUTeNbLHBI r0J10C, 0OXOTHHKH CXBATHIH PYKEI.

1) Ycanimas 2} Yenemmasmyo  3) YeneonaBmuii  4) YcoanOonaBImmpx
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B. JIonoaHHTe TEKCT, HCMONL3Y S NOIX0ASIES 10 CMBICTY CI0OBO.

Avurprii Menzenses paHo cTal 4UTATE M MHCATE. (92) --—--—-- OH TIOLEN TOXKE paHon,
Koraa emy (93) --—--mm-- TOMIBKO AT J1eT. OH Jerko yuuncd, (94) ----—---- HPABHJIHCH
MaTEMATHKA U (H3MKA, 110 OONELIEe BCEro oI HirepecoBancs {95} -----—---- . Ammrrpuit

OKOHU K1 'HMHA3MID, K018 eMy Ghiio 15 (96) -——--—- ;

92- 1) UWxony 2} B wrkony 3) Uxoma 4} B utkone
93- 1) 6nin 2} ObL1d 3) Obun 4) Obuno
94- 1)Ero 2} Ee 3) Emy 4 Ei

95- 1) xuMmuei 2} XuMHR 3) XUMHI0 4} xunMug
96- 1) romy 2} roma 3) ner 4) ron

B. "pD‘-lHTElﬁTB TERET H BLIMOJIIIATE 3aA81IHA ITO0LJIe Nerd.

Comcunoc yrpo 12 anpens 1961 roxa. Pyeckas pakeTa OIHATAch B HC0O ¢ KOCMOIpOMa
Balixonyp. B 3ToM kKocMHUECKOM Kopalie HAXOAWNCA TESPBBIM KOCMOHABT 3eMITH:
pvecrkuit nérumk MOpuii Anekceepuy [Marapmillon€T ToTOBHAH TRICSIH HIDKEIIEPOB,
paboumx. Puck Omnm orpomimiv. [o [Marapuia 8 kocMoce nebnisany cobaku. Cobakw,
benka n Ctpeika — nepBhle #UBBIe CyLIecTBa, KoTopele B 1960 roxy nobrisanu B kocMoce
I GIATOIIONYII0 BEPIYIIHCE T1a 3eMIIo.

Kocymuuecknii kopadbimn «BocTok» mayalt monér. «lloexamu!» — ckaszan Iarapun. 108
MHHYT B KOCMOCE - 3T0 OJWH 00opoT Bokpyr 3emmu. 1 310T mon€T He OBLI TErkoit
mporynkoii. Ho l'arapme pgeiictBoBan mo mnamy. «Kpacota-to kakat!s. 1o OpLIM
[OepPEbIE CIOBA [EPBOrO 4YelOBeKa B Kocmoce. |2 ampens 1961 rona Bech MUpP y3HAN:
«Yemopek B KocMmoce!n. DTo coobimenwe moTpsAcno Bcw mnaneTy. FHOpmii [Narapua
TparMyeckd norud B apHaLMOHHOK kaTactpode 27 mapra 1968 roaa. Ho u ceroans Bee
OOMHAT ¢ OCPBOM KOCMOHARTC MIAaHCThL JIyduie ecex O HEM cxaszan Hun ApMCTpOHT,
AMCPMKAHCKUH KOCMOHABT, HCpBbiM 1100hRaRINMA Ha JTyue: «OH BCCX HAC 103BAL B

KOCMOCH.
97- Tarapun npodeLl B KOCMOCC -------—- 1

1) bonwiue yaca 2) HECKOJIBKO JacoB

3) MeHee 0AHOTO Jaca 4} 0KOJI0 BOCEMH JacOR
98- 10 ve10BeKA B KOCMOC JICTAH ~=—----—n- ;

1) 0De3EARBL 2} KOMIKH 3) MBOON 4y cobaxu
99- Tarapad 00.1eTe] BORPYT 3eMITH —=nmmmmnn :

1) 108 pa3 2} 61 pas 3) 12 pas 4y 1 pas
100- TlepBLie cNOBA YENOBEKA B KOCMOCE --—----—- .

1) «dloexanuly» 2} «Henopek B kocmoce!»

3) «Kpacora-ro kakas!» 4} «OH BCCX HAC 1103BAN B KOCMOC!»
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Capitolo A:Indicatc la risposta corrctta:

Gli hanno insegnato a serivere con la destra, ma lui €' -—-----—- .

1) sinistra 2) a sinistra 3) mancino 4) da sinistra

Mario ha comprato un libro di seconda mano, 1’'ha pagato pochissime: un vero ———-—-- ;
1) scontrino 2) oggetto 3) buono 4} dono

la madre chiese al bambino se -————- mangiato qualccosa.

1) ha 2) abbia 3) avesse 4} avrebbe

-------- meglio che venisse anche lui ieri sera, ¢'era bisogno di qualcuno che ci aiutasse,
1) Fosse 2) E' meglio 3) Fra ineglio 4) Sarebbe stato

Quale ¢ il soggetto nella frase seguente?

Nel mese di giugno si svelgeranno gli esami di stato.

1) loro 2} giugno 3) nel mese 4} gli esami
Qale ¢ il modo e il tempo della seguente voce verbale?

Egli avrebbe scoperto

1) congiuntivo presente 2) condizionale presene

3) condizionale passato 4} congiuntivo imperfetto

Indica in quale delle seguenti frasi compare un pronome,

1) Tl mio gatto ¢ molto grosso.

2) Non credo pia alle loro parole.

3) Codeste pantofole sonoe ormai da buttarc.

4) Tra questt giocatoli ¢ sono quelli di quande Francesco ¢ Mattco crano bambini,
Indica in quale delle segucenti frasi vi ¢ una preposizione articolata,

1) Vieni con me? 2) Si parla spesso tra not

3) Ho portato 1 gelati a zia Maria 4) Non parlo mai det fatti vostri,
-------- lo ebbero visto, decisero di invitarlo alla festa.

1) Poi 2) Dopo che 3) Poiche 4) Mentre
-------- arrivata tardi non ha trovatoe nessuno.

YE 2} Sono 3) Essendo 4) Mentre sono
------- — ti ha fatto una multa.

1) 11 vigile 2) 17 autista 3) 1l professore 4) L’insegnante
Qualche mese fa —---—--— trovarei i nostri amici inglesi.

1) vengano 2) vennero 3) venniate 4} venissero

11 Natale scorso noi lo ----—- — ¢on la nostra famiglia.

1) passono 2} passimo 3) passiamo 4) passammo
Domani nessuno potra aiutarla -—----—--- . la sua volonta’.

1) tranne 2)yma 3) forse 4) che

11 governo ha assicurato che entro il mese di settembre (utti i ------—--— avranno una casa.

1) ladri 2) poveri 3) profughi 4) vagabondi
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Capitolo B: Completate il seguente testo con le parole proposte:

Vorresti venire alla partita oggi? mi domando™ il mio amico italiang Roberto.
(91} -mmmeee- partita stai parlando?' gli dissi, 'di una partita tennis, golf, o ping pong?
(92} -=--mmmmm- che Roberto mi stava guardando con un sorriso di commiserazione. 'Come
sei ignorante!' disse, pensavo che tu sapessi almeno il significato della parola "partita”
quando, come oggi. € una domenica d'inverno.' 'Ah' risposi, 'non sapevo che il
significato delle parole (93) -------—-- dalla stagione dell'anno. Che strana lingua parlate
vol italiami!" Roberto disse 'E° molto semplice, qui, in [Italia, il gioco
(94) ---——--—- popolare durante la stagione fredda ¢ il calcio, e la domenica tutti vanno
(95) ----—--—- vedere la partita. Cosi non c'e’ bisogno di dire quale partita, perché tutti
sanno che tu parli della partita di calcio.

1) come 2} diqualc 3y dache 43 del quale
1) Notai 2) Noti 3) Notc’ 4) Noto

1) dipenda 2) dipende 3) dipendi 4) dipendesse
1) vero 2} gsatto 3) giusto 4) veramente
lya 2y di 3) tra 4) con

Capitolo C: Leggcete il testo ¢ rispondcte alle domande scguenti:

Michele e Marco sono due bambini di 10 anni. Loro non si conoscono: Marco abita in
citta mentre Michele vive in provincia.

Michele ha la scuola, la chiesa e una bicicletta per correre su e giu nel paese. Marco ha la
scuola, 1l catechismo e 1l nuoto.

Marco ha tanti giocattoll e invita spesso 1 compagni di scuola a casa sua. A Marco,
perd, non piace leggere le istruzioni e cosi spesso non si puod glocare, qualche volta perde
pure qualcosa: un dado, un segnapunti... "pazienza!", dice, "tanto la prossima settimana
i comprano un gioco nuovo!",

Michele non ha tanti giocattoli ¢ ncmmcno tanti amici ¢con ¢ul passarc il pomeriggio.
Cosi Michele sc ne sta sempre per conlo suo. Fa 1 compiti ¢ pot esce, prende la bici ¢ corre
in giro per il pacse,

Michele ¢ Marco sono du¢ ——————- .

1) amici 2) piccolini 3) straniert 4} vicini di casa
La casa di Marco si trova in un luogo ---------- "

1) alto 2) caro 3) mamoroso 4) tranquillo
Marco di solito gioca con -------- -

1) Michele 2) 1 cugini

3) L compagni di classe 4) 1 vicim di casa

Chi ha tanti giocattoli?

1) Marco 2) Michele

3) Gl amici di Marco 4) Gli amici di Michele

100- Michele corre in giro per il paese con --——----

1) una macchian 2y una biciclctta
3) un automaobile 4) una molociclella
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